La

Exercice 1

Factoriser les expressions suivantes :
3z + 21

4z — 2

— b5z + 20

5x2 — 8z
(x—1)2z+3)—(z—-1)(2—-1x)
2z +1)% + (22 + 1)(z + 3)

(br —2)2z +7) — (bz — 2)

Tx — 49 + 1422

92% + 12z + 4

Q2x—T)(z+4)— 2z —T7)(4z + 1)
(4z — 1)% + (22 — 5)(4x — 1)
(x+7)(Bx —1) + Tz + 49

1622 — 81

4922 — §

922 + 30z + 25

(2z +3)% — 49

(4z — 1)% — (22 + 3)?
3 — 162

2522 — 1 — (4o — 3)(bx + 1)
224+ 8z + 16

402 — 4 + 1

x? — 64

2?24+ 2+0,25

10022 — 1000z + 2 500
162? — 8t
22 =7

2% +2

(Br —1)%2 — (z +2)2

Factorisation
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G
Correction

Exercice 1
e 3x+21=3x+3xT7=3(x+7)

o dr — 22 = x(4 — 1)

o =52 +20=—bx+5x4=>5(-x+4)

o 522 — 8z = z(5x — 8)
c(z—1)2zx+3)—(z—-1)2—-2)=(z-1)[2z+3)—2—2)]=(z—-1)(22+3—-24+2z) = (x —1)(3z + 1)
e 224+ 1)+ 22+ )z +3) =2z + D[z + 1)+ (x+3)]= 2+ )2z +1+2+3) =22+ 1)(3z +4)
o (5z—2)22+7) — (5z —2) = 5z — 2)[(2x +7) — 1] = (52 — 2)(2z + 6) = 2(5z — 2)(z + 3)

o Tx — 49+ 1422 =T(z — 7T+ 222) = 7222 + 2 — 7)

0922 + 122 +4 = (32)2 +2 x 3z x 2+ 22 = (3x + 2)?

e (2z-7)(z+4)—2z—T)dz+1) = 2z—-T)[(z+4)—(dz+1)] = 2z—T7)(z+4—4x—1) = 22 —T7)(-3z+3) =
32z —T)(—x +1)

o (4x—1)2+ (22 —5)(4r—1) = b —1)[(4x — 1)+ (22 —5)] = 4oz —1)(4x — 1 + 22— 5) = (4x — 1)(6x — 6) =
6(4r — 1)(x — 1)

e (x+7)Bx—1)+724+49 = (2+7)Bx—-1)+7(x+7) = (x+T7)Bx—1+7) = (z+7)(B3z+6) = 3(z+7)(x+2)

o 1622 — 81 = (42)? — 9% = (4v — 9)(4x + 9)
a0t = = (12— (3)° = (e = 3) (7w )
e 922 + 30z + 25 = (3z)%? + 2 x 3z x 5 + 5% = (3x + 5)?

e (22+3)2-49=(22+3)2 -7 =[(22+3) = 7][(2z + 3) + 7] = (22 — 4)(2z + 10) = 2(z — 2) x 2(x + 5) =
4(z — 2)(z + 5)

o (dx—1)2—(2r+3)2 =4z —1)— 2z +3)][4r—1)+ 2z +3)] = (4o —1—-22 - 3)4r — 1 + 22+ 3) =
2r —4)(6x +2) =2(x—2) x 2Bz + 1) =4(z — 2)(3z + 1)

o 23 — 161 = z(2% — 16) = x(2? — 42) = 2(x — 4)(z + 4)

0 25202 —1— (42 —3)(bx + 1) = (5z)? =1 — 4z —3)(5z + 1) = (b — 1)(5z + 1) — (4o — 3)(bx + 1) =
Br+1)[Br—1)— 4z —3)] =Bz +1)(bx —1—4x +3) = (bz + 1)(x + 2)

e+ 82+ 16 =22 +2xx x4+4% = (x+4)?

o dr? —dr+1=(22)2 —2x 2w x 1+ 12 = (22 — 1)?

o1 —64=2%—-82=(z—8)(x+8)

22 +2+0,25=22+2x2x0,5+0,5%2 = (z+0,5)?

¢ 10022 — 1000z + 2500 = (10z)% — 2 x 10z x 50 + 502 = (102 — 50)2

Remarque : on peut encore poursuivre la factorisation, en effet : (10z —50)% = [10(z —5)]? = 10*(z —5)? =
100(z — 5)2

Fiche issue de http://www.ilemaths.net 2



1607 = 8 = (42— (9 = (10— ) (o +

catT=a? = (V) = (2= V) (04 V)
0 22 +2=2(2" + 1)

e (Bz—1)2—(z+2)? = [Bz—1)—(z+2)][Bz—1)+(z+2)] = Bz—1—2—2)(Bz—1+z+2) = (22—3)(4z+1)
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